Manufacturing Industries

Multiple Choice Questions:

Question 1.

Which one of the following is not a factor of industrial location?
(a) Power

(b) Population Density

(c) Capital

(d) Market

v Answer

Answer: (b) Population Density

Question 2.

In which of the following states is Rourkela Steel Plant located?
(@) Jharkhand

(b) West Bengal

(c) Odisha

(d) Bihar

¥ Answer

Answer: (c) Odisha

Question 3.

Where was the first port-based plant, which started operating in 1992, set up?
(a) Andhra Pradesh

(b) Madhya Pradesh

(c) Maharashtra

(d) Uttar Pradesh

¥ Answer

Answer: (a) Andhra Pradesh

Question 4.

The concentration of the jute industry in West Bengal is in this region.
(a) Kolkata and Durgapur

(b) Kolkata and Midnapur

(c) Haora and Bhatapara

(d) None of these

¥ Answer

Answer: (c) Haora and Bhatapara



Question 5.

Which state is the largest producer of sugar in India?
(a) Uttar Pradesh

(b) Maharashtra

(c) Punjab

(d) Tamil Nadu

v Answer

Answer: (b) Maharashtra

Question 6.

When was the New Industrial Policy announced?
(o) 1900

(b) 1990

(c) 1991

(d) 2000

v Answer

Answer: (c) 1991

Question 7.

In which year was the first modern cotton mill set up?
(a) 1800

(b) 1850

(c) 1854

(d) 1900

v Answer

Answer: (c) 1854

Question 8.

When was the Bokaro Steel Plant set up?
(a) 1900

(b) 1950

(c) 1960

(d) 1964

v Answer

Answer: (d) 1964

Question 9.

How many sugar factories were established in India in the year 2010-117
(a) 560

(b) 600



(c) 662
(d) 700

v Answer

Answer: (c) 662

Question 10.

In which of the following cities of Gujarat has the largest petroleum refinery been setup?
(a) Jamnagar

(b) Ahmedabad

(c) Surat

(d) Rajkot

v Answer

Answer: (a) Jamnagar

Question 11.
Complete the following table by writing appropriate name in the blank.

v Answer

Answer: Joint sector.




